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%
o)
(i)  wu=2+k O’b
u3:8+3k B1
Uy = us 2+ k=8+3k Ml
k=-3 Al
(i) us=2"-3(5)=32-15=17 M1 Al (5)
3 2
:j (2x? — 1) dx
= [ @ - 4x7 +1) dv M1 Al
=x'— 8 4yt M1 A3 (6)
(i), (ii) V4
y=sin (x = 30)° B2
\ o y =sinx° B2
x
(iii)  x=-75,105 B2 (6)
(i) (x=3)x-10)<0 Ml
3 10 Ml
3<x<10 Al
(i) let x=2V
= 3<27<10
lg3<ylg2<Ig10 Ml
g2 Ig2
1.58 <y <3.32 (3sf) Al (6)
(i) (-4,0) .. 0=4-20+16k+ 128 Ml
16k=—-112, k=-7 Al
(i) 4+5x-Tx-2x'=0
x=—4 isasolution .. (x+4)isa factor B1
2+ x+ 1
x+4)—2x3 ~ 7+ 5x + 4
-2 — 8
¥ + 5x
2
X A M1 Al
x + 4
x + 4
A1 Hx-2x)=0
(x+4)(1+2x)(1-x)=0 Ml
x=—4(atd), 3,1
w (=3.0),(1,0) Al (7
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2,
/bc?
%
. 4 (y
) =] 6+5) d %,
x OO'
flx)=5x —4x"' +¢ MI A2 "G,
i) f(1)=5-4+c=1+c¢ M1 7
f2)=10-2+c=8+c¢
f(2) = 2f(1) 8+c=2(1+c) M1
c=6 Al
flx)=5x—4x"'+6
f(4)=20-1+6=25 Ml Al (8)
. sinB _ sin2.2
(i) PR M1
sin B= 2 sin 2.2
ZABC = 0.354 (3sf) Al
(i)  ZBAC=m—(2.2+0.3538) = 0.588 (3sf) M1 Al
(iii) =1 x3x7xsin0.5878 =582 m’ (3sf) MI Al
(iv) =5.822+[1 x2’x(2m—0.5878)] + [ L x 17 x (2n—0.3538)] M3
=20.2 m* (3sf) Al (10)
(i) x 2 4 6 8
1+ 3Jx 5243 7 8.348  9.485 Ml Al
area= 1 x 2 x [5.243 +9.485 + 2(7 + 8.348)] Bl M1
=45.4 (3sf) Al
(i) =], 1+ 3x) o
—x+2x°18 M1 Al
=[8+2(242 V] -[2+2(24/2)] M1
=(8+32/2)- 2+ 4/2) Ml
=6+ 282 Al
(iii) = % x 100% = 0.43% M1 Al (12)
; =X
@ r=3 Ml
. u;,:xX%:%xz M1 Al
(i) a=2,a+t2d=x
cod=1@-2) M1
u11:2+[10><%(x—2)]:5x—8 M1 Al
(iii) %x2:5x—8
X —10x+16=0 Ml
x=2)(x—-8)=0 M1
x#z2 . x=8 Al
) d=1(@8-2)=3 Bl
Sso= 3[4 + (49 x 3)] =3775 M1 Al (12)
Total (72)

© Solomon Press

C2, MARKS page 3


https://mymathscloud.com

	For OCR
	
	GCE Examinations
	Advanced / Advanced Subsidiary


	Core Mathematics C2
	
	Paper I
	MARKING GUIDE





